Compute Boeing's break-even point in number of 757-300 airplanes and in dollars of sales. 

In order to calculate the break-even point in number, let us first calculate the contribution margin provided by each plane, which is equivalent to: 

Sales price- Variable cost per plane: 70-45=25 million 


Total Fixed cost: 950 million. 

Break even point in number: 950/25= 38 Airplanes. 

Thus, Boeing needs to sell 38 airplanes in order to achieve break even. 

In Dollar sales terms, the figure will be: 38*70million= 2660 million or 2.66 billion dollars. 


Suppose Boeing plans to sell forty-two 757-300 airplanes in 2002. Compute Boeing's projected operating profit. 

To Calculate operating profit: 

42 Airplanes* 25 million (contribution margin per airplane) - 950 million (fixed costs) 

1050 million- 950 million= 100 million dollars. 

Suppose Boeing increased its fixed costs by $84 million and reduced variable costs per airplane by $2 million. Compute its operating profit if forty-two 757-300 airplanes are sold. Compute the break-even point. Comment on your results. 

New Fixed cost: 950+84=1034 million 
New Variable Cost: 45-2=43 million 

New Contribution Margin= 70-43=27 million 

Operating Profit for 42 Airplanes= 42*27million less 1034 million= 1134-1034 million=100 million 

The operating profit in this case remains the same even after decreasing the variable cost as the quantity sold was just enough to offset the increase in total fexed costs. However, any increase in sales beyond 42 airplanes will bring in additional profits in this case as compared to the previous situation. 

Ignore requirement 3. Suppose fixed costs do not change, but variable costs increase by 10% before deliveries of 757-300 airplanes begin in 2002. Compute the new break-even point. What strategies might Boeing use to help assure profitable operations in light of increases in variable cost? 

New Variable Cost= 45+ 10% of 45= 45+4.5=49.5 
New Contribution Margin= 70-49.5=21.5 
New Break Even Point= 950 million/21.5million= 44.18 Airplanes 
In dollar terms= 3093.02 million or 3.09 billion dollars
